
Worksheet
07/06/2019

Free on dw-math.com

Problem quickname: 6733

1)

Calculate the correct results.

a) 9 · 4 =
9 · 40 =
90 · 4 =

b) 8 · 9 =
8 · 90 =
80 · 9 =

c) 5 · 4 =
5 · 40 =
50 · 4 =

d) 7 · 3 =
7 · 30 =
70 · 3 =

e) 3 · 10 =
3 · 100 =
30 · 10 =

f) 5 · 3 =
5 · 30 =
50 · 3 =

g) 10 · 9 =
10 · 90 =
100 · 9 =

h) 1 · 3 =
1 · 30 =
10 · 3 =

i) 7 · 8 =
7 · 80 =
70 · 8 =

j) 9 · 7 =
9 · 70 =
90 · 7 =

2)

Calculate the correct results.

a) 5 · 2 =
5 · 20 =
50 · 2 =

b) 8 · 1 =
8 · 10 =
10 · 6 =

c) 5 · 1 =
5 · 10 =
50 · 1 =

d) 2 · 2 =
2 · 20 =
20 · 2 =

e) 8 · 10 =
8 · 100 =
80 · 10 =

f) 7 · 1 =
7 · 10 =
70 · 1 =

g) 2 · 4 =
2 · 40 =
20 · 4 =

h) 8 · 1 =
8 · 10 =
80 · 1 =

i) 3 · 8 =
3 · 80 =
30 · 8 =

j) 6 · 4 =
6 · 40 =
60 · 4 =

3)

Calculate the correct results.

a) 20 · 4 =
2 · 40 =
2 · 4 =

b) 8 · 5 =
8 · 50 =
80 · 5 =

c) 5 · 7 =
50 · 7 =
5 · 70 =
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d) 9 · 2 =
90 · 2 =
9 · 20 =

e) 3 · 80 =
3 · 8 =
30 · 8 =

f) 40 · 5 =
4 · 5 =
4 · 50 =

g) 5 · 70 =
50 · 7 =
5 · 7 =

h) 2 · 30 =
2 · 3 =
20 · 3 =

4)

Calculate the correct results.

a) 80 · 2 =
8 · 20 =
8 · 2 =

b) 50 · 2 =
5 · 20 =
5 · 2 =

c) 80 · 9 =
8 · 90 =
8 · 9 =

d) 60 · 3 =
6 · 30 =
6 · 3 =

e) 100 · 1 =
10 · 10 =
10 · 1 =

f) 10 · 4 =
1 · 40 =
1 · 4 =

g) 80 · 4 =
8 · 40 =
4 · 5 =

h) 30 · 1 =
3 · 10 =
3 · 1 =

i) 60 · 4 =
6 · 40 =
6 · 4 =

Good Luck!
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